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Answer any five (05) questions.

Non-programmable Calculators are allowed only.
Question No. 01

(a) Explain the importance of Business Mathematics in management.

( 05 marks)
(b) Which elements of the sct, {—6.25, —4—%, -3, /5,1, z, 1.2, 10} belong to each

category listed below?

1) Natural Numbers
i) Whole numbers
ii1) Integer Number
iv) Rational Numbers

V) [rrational numbers
( 05 marks)

(¢) If x = 3 to be one of the roots of the quadratic equation x? — 2Kx — 6 = 0, then find
the value of K.

( 05 marks)



(d) The difference of squarcs of two consecutive even integers is 68. What are these numbers?
( 05 marks)
( Total 20 marks)

Question No. 2

(a) Solve the following equation.
x*—8x+5=0
(05 marks)
(b) Solve the following inequality expression.
4—-2x>8
(05 marks)
(c) IFactorize the following expression.
3x —Tx+ 4
(05 marks)
(d) Solve the following pair of simultaneous equations.
3x4+2y=7
5x — 3y =37
(05 marks)
(Total 20 marks)

Question No. 3

1
, L 1
() Simplify the expression, (p? — 2pq + g?)z X 7

( 05 marks)

2
Tx+—
(b) Solve the equation for x, (3\/2) 2x+7 = (4/2) 3

( 05 marks)
(c) Find the value of x il logo(x —10) =1
( 05 marks)



(d)

Solve the following logarithmic equation.
log,(6 —x) =3 — log, x
( 05 marks)
( Total 20 marks)

Question No. 04

(a)

(d)

Letset A={1,2,3,4,5,6,7,8} and sect B={3,5,7,9,11,13}.

Find,

i) AUB
iy ANB
i) (AnB)

( 05 marks)

Let A, B, and C be three scts. Draw a Venn diagram and shade the arca representing each
of the following.

i) (ANBYU (ANC)

iy (AuB)nce

(05 marks)

What is the difference between combination and permutation? Explain by giving two
examples.

(05 marks)

[n a group of 7 boys and 4 girls, five children are to be selected. In how many different
ways can they be selected such that at least one boy and one girl should be there?

(05 marks)

( Total 20 marks)



Question No. 05

(a)

(b)

A company making 1000 computers each month plans to increase its production. The
number of computers produced is to be increased by 100 each month in such a way that
the 1000 units in month 1 is increased by 100 to make the total units in month 2 to become
1100. and 1100 units in month 2 is increased by 100 to make the total units in month 3 to
beecome 1200, and so on. until 3400 computers are produced in month N.
i) I'ind the value of N.

(05 marks)

i) The company then plans to continue to make 2000 computers each month. Find the
total number of computers that will be made in the first 40 months starting from
and including month 1.

(05 marks)

A company predicts a yearly profit of Rs. 5,800,000 in the year 2024. The company also
predicts that the yearly profit will rise cach year by 15% of the pervious year.
i) What is the predicted profit for the year 20287

(05 marks)

i) Iind the total predicted profit for the period from 2024 to 2028.
(05 marks)
(Total 20 marks)

Question No. 006

(a)

If the difference between Simple Interest and Compound Interest on a certain amount of
money in 2 years at the 20% rate of interest per annum is Rs. 800, then find the principal

amount.

( 05 marks)



(b) Iow much will be the rate of simple interest charged per annum if a loan of Rs.4000
incurs an interest ol Rs.1440 after three years.

(05 marks)

(¢) Calculate the interest rate for an account that started with Rs.500,000 and now has

Rs.1.000,000 and has been compounded annually for the past five years.
( 05 marks)

(d) [Tow long, to the ncarest year, will it take for an investment of Rs.8000 to reach Rs.12400

il'it is invested at 7% per annum compounded quarterly? (Answer to the closet years)

(05 marks)
( Total 20 marks)

Question No. 07
(a) A product’s demand function is P = 1000 - 2q. It has a fixed cost of Rs.800 and a variable

cost of 100q + 3¢, where q is the number of units produced, and P is the unit price. You

are required to,

i) I'ind the Total Revenue function

ii) Iind the Total Cost function.

i11) I“ind the prolit function.

iv) Find the number of units at which profit is maximized.

V) I'ind the Maximum profit.

(02 marks for each)

(b) The cost function of a product is given by,

Ce) = 2% — 2 4 15750x + 18000

2
Where x is the number of units produced.
Determine the number of units that must be produced to minimize the total cost.

(05 marks)



(¢)

The marginal revenue function of a commodity is given as MR =12 — 3X* + 4x.
Find the total renuc and the corresponding demand function.

(05 marks)

Question No. 08

(a)

(Total 20 marks)
Find the sum of the following matrices A and B.
-5 4 _8 -3 -4
A*[z 5 3] b |,4 -2 9]
(05 marks)

Find the product of the following matrices A and B

A= [17} _()ZJ 5= Ij 53]
(05 marks)
Solve the following system of linear equations, using matrix inversion method.
2x+4 y=12
SBx+y=11.
(10 marks)

(Total 20 marks)



